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BCECE

COMBIN
giHA" =D ENTRANGE COMPE
- TITIVE EXAM

About the &xam & How T S U
°dUCCeed

CE Medical Entrance Fxam

. ed Entrance Competitive Examj

nati :
t Conductﬁd by BCECE Board, op ;EZII; c(;?ShECE) is the
c

inlt?

ﬁih“r

nc@ 1 f Bihar for admission intg var
” e = / Coll . arious professiong
O [pstitutions/ &0 eges/University of ¢ S ourses o e
K d R ¢ State of Bihar, Th n the basi
e 0pe® for the students of Bihar domicile o - The of the merit
> 1 hash - e - obtained in
: 1as been constituted b ' he test,
CE Boar uted by the Géy : t '
je B : ith the Bihar Combin ernment of Bihar merit list is
T c0r e Th ed Entrance Competitivc prepared
T . i :
P a_minﬂ“on Act, 1E995 i‘- primary purpose of the Board for categorywise
X 3 _ :
; ycting BCECE is to ;‘;{ e;j :llltable and meritorious students of = Ats pe; 11;12
b ‘esion in to Medi - : . Tern
" for admission e » Engineering, and Agricultural g,
s qvailable not Ony in different Colleges within Bihar, but also . successful
frthe [nstitutions situated outside Bihar against 'State Quota' seats. c@mdagz
he Board also condu-cts .Post Graduate Medical Admission Test ii published in
(PGMAT) for admission in Post Graduate Medical Course in Medical ; leading
Cﬂueges Of thc Statf: Of Blha[. < newspapers
. , . t of the State,
pCECE is an examination held in two stages. The first stage is the - i as well as in
«reening test. The successful / shortlisted candidates are then need to | participating
sppear in Stage-11 of the exam, which is of three papers, held on the Colleges.

subjects of Physics, Chemistry and Biology, for medicine aspirants. The
level of the test is that of intermediate (10+2) and the medium is

English.

Advertisement for BCECE appears in all leading State Newspapers,
wually during the month of December/ January, and the first stage of
exam generally held in April, followed by Stage-1l in May/ early June.
The result is usually declared in July , and the classes start in August.
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BCE 2king © cafectoB BE through s
College® . eges in Bil} ; BCECEd jssion 12 gve take are i o
( Medical Co dical colles dJ thro¥ The # and their 12 ; .
j . s €
[ 7 At present, ;bf’; a;;iss:‘oﬂ is admﬂ;;: :;trﬂncc cﬂ“z 1 colle: e Oa_fe 5
/ / " - i a 5 in e i e
' prwate:.m w;i 4 dldaf":{é Names © d education and ﬂd‘
¢he merit obtaince by the Board. di base .l | ure
process of counseliné celle mec! boys and girls as well, ut n
- r
J given below: ries as We % cx’l'tiﬁs th fo e to Preparc well for iptgf
J _ ¢ great laborato el facill s hav : Wt
. offer g host den f duration, 0
f All the inSttutes = “ 0 e colleges have ugh and S 5 8 Y2 years Q ¢
/ quality inft asrrucflifzﬁ competition is very toBg course 15 © 4
‘,'I As the seats 3T ‘::'f: ¢heir desired colleges- Ain aet
| ing admissio .o iorernship-
.i B8 sear of compulsory rorating in

wich one year.©

Name =
A N Magadh Medical College s!mmglhzgfaRoad' Gay 631-9410339
| gﬁﬁr&- 0651.2410839, Fax: 0631-2

Leheri Sarai, Darbhanga - 84_6003

i dia
gﬁﬁr&f 06979.9333228/2333081

Fax: 06272-2333228

Bh ur - 812001, Bihar,
Phgfglil:%ﬁxiL%OlO?S,Fax: 0641

9. [ Darbhanga Medical College

India

= g / Jawaharlal Nehru Medical College / -

(atihar Medical Coll Karim Bagh, P.O. Box No. 23
e o Katihar - E§54105 Bihar, India ond
Phone: 06452-222714,/226692, Extn : 202,

Fax: 06452-225219

5. | Mata Gujri Memorial Medical Collegf Kishanganj - 855107 Bihar, India Pvt. 60
. Phone: 06456-222719, Fax: 06456-222414 ;
6. | Nalanda Medical College Kankarbagh, Patna - 800020, Bihar, India Gowvt 100
Phone: 0612-2354871/2354828
Fax: 0612-2354871
E-Mail: nmcpat@yahoo.com
nmcpat@sancharnet.in
7. | Patna Medical College Patna - 800004 Bihar, India
3 Phonc: 0612673343 — \ =
; P.O. Umana Muzaff, ’
B}i]har, India B Sipur-S42004 Govt. 100
Phone: 0621-2230271 F
- s ax: 7, ¢
9. [ Gowt Medica] College s sl
0. v Madhepura, Bihay
__/ "4rdhaman Ayurvigyan Insti Ga
file ; Vi 104G
Bettiah, Wegt cp i |
S Champaran, Bihar _‘_—""‘—‘T——-ﬁ—-—._, i E——
| Govt. 10
WWW.GRADESETTER.COM


https://gradesetter.com/

WWW.GRADESETTER.COM

> ’ FVATION Oof SEAT
. ’51‘1 (otal seats in the Meq, S
5 ed Castes SO Ucal ooy,
| are reserved for - Ueg
e

wone
P geats -
'kaaa
. “’e.—_‘ 1
ar th

| 1" o d Cl
ar asse st
[J-"‘ a . gac . s (BQ). Udeany, - R
Fy 19 are for the children of Sche udents belonging to
ha £ TIne Sy,
n | 59,;1'1 dparSQ Eﬁ%aa
Tne ! (=T,

¥ edici

: frer M dl_clne [ T

gr°, carion 1R Bihar has ap j edj

cdu illugeys 1cq)
al te has produced T “
! IJIQ pe Gra many em; Past Cges §
T repute: Over and above Minent g, Bloriay, P n Bihar)

. - 5 r

(0" _ith a direct consequen > 10 receny yctots Wwho a:sem and bright and promising
Ce fars, the S € not only of national, but also of

€
at 4 . h on the ;
; courses in the State; € imy tate
Py fgﬁslon e as well. > and thig has E‘“Ve:ment of t};‘“ achieved an incredible
o cat | foughe o ey Oyerel education, incuding oo
ancement in medical studies : :
L A\C8,

;ous areas of specialisation available for the 4 ' . \

. octors. After doing MBBS, candidates \
] ost graduatc-: 1everIl‘ 1rs:a.uhcs (MD or MS). Post Graduate Ptoglﬁfmes (MD or MS) 38 \ \
P 3 Yea[s duraton. ere are also Supcr Spcclahsations which require 2 garther 2 © years ‘

MD or MS or M. Scin Medicine) can go for Ph. D in any
al Y\:o%t‘amme

2 f medicine. MD or MS holders can complete the Doctor

-
% Th;ahscd;rgal\z Sc Medicine holders in 3 years. .
opportunities a doctor finds can broadly be't?ategorised as
' hospitals o xy
istry of Defenc®

clinics/ health departments D
and the air force, under the Min

@Eh D)

below:

fhe employ™ i
il me]’l[ or

Bl o



https://gradesetter.com/

WWWwW

.GRADESETTER.CO

I i ( ‘E 29“%5 9
| edic ( \§ 33
al g 1
| nt[a \
\} ﬁce EX \ Bsting
i grown £ Ph i e
| s thrgWik SROXK thy < 98 axe
;‘_\ I’I"g :11 high at a distaniegr é’fund to cle yslcs \. D_\.‘:\t\:
il % qway PO the wall, g d fayy S ook
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1N i W‘ . n "
o 3) \orar(2) o ol is b aliquiduploabeighu. | e
@ : 3 first hayg of uﬂr t, be the time taken to 'amm_s | 'wing
A an_ 1[,) (d) tan™ l[_l_i_ empty rest ﬁ:lt{ank andt,be the time \akengo \
,L"[ 2 o i 4 the ratig E‘_i, of the tank. Then, determine \\‘ 'ac‘:a
: rifleeectricﬂ 2 '\
tl;onﬁlt;f’ﬂ enclosed surfac;fe;;teﬁng anil (@133 3 % Stes
* 123V & ecti 4
s, tho.electic chargs lnsice 4. * Ans oo | e
i’lrface wil ST & — & the 'iielc% ;::;‘;%é‘;éﬁia {prgtu&; ﬁn\er a magnetic \ 1;
L 5y ‘g ,E) = en g arly bo ave ST Kinet -
d ftg{én(c" +¢2) ) €0 : m:‘g&,?\' hich of the following Steatemg.n‘?s \
; . <
22 e L e e L
“" g 0 | (c) Both Ha{: ;Og‘lec\ron is less cuwe?s
s ; es are equally cuve
if the escapP® Sifrfd~ . o rojectile on Earth’s 7 @ Bt move n s e o .
< yrfac 15 1]."2 th's and a body is projected - The coefficient of volume expan jon of \
Jut wit thrice th1S speed, then determine the glycerine is 49 %10 sg-). What 18 the \ \
f] eed of the body far away from the Earth. Eﬁl?tlflnal change in its density fora30° Crise \ \
p 453 kms™ (b) 33 kms™ A @ : mpe“ime? - \ '
£ o kmS : ald)31.7 kms™" AR ©)2x10 \ k1
(c) & i (©)35%107° (@) 25%107° \
.o the otenti rop between e ‘
] Dgterrﬂlﬂe F the followi T s the §, If a conducting rod of length 4118 rotated
S 4andC in the following circuit. - : . cRe\dB
poin 54 about at point Oin auniform magﬁe’imﬁ al
directed into th an =], BA=SH
- o : !
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stant accelerations d,

ith con
and iave Vs the value of v will be

a, respecti vely. So,

(a) (v/a; /& )t (b) (va /a)t
(©) (a7 )t (@) (a2 )t

12. If an equiconvex lens is cut into two halves
along (i) XOX ' and (ii) YOY as shown in the
figure. Let f, f' f” be the focal lengths of
complete lens of each, in case (i) and of each
half in case (ii) respectively.

ct statement from the

@F =ff=f

(0) 1 =2f 1" = of
©F =fr=of
@) F =2f<¢

15. A ball of mass n

16. A
simultaneous emissi i |
half-lives 1620 YISS;EI(; Of;fltSNO e
The time in years after whj
material remains, ig
(@) 1080 yr
(c) 4860 yr

©
111’? 4
» G
m is releag 99 o’ of
: - ]1‘”1(!;11. ::S shown in (:;lt,h"r“ 4 ;11‘9;36 -
1 Yoo lum is 1.5 1y e
/ ‘ 15 b Y l“(i .-ndu : 3 P
4 od PAPET & 3 T"c--l:wiwl P::F‘llt.'llfi‘;:h the bob a?ﬁ"n:}‘;;“n_ 3; ‘2 9.8
., pCECE (Medical) SolV _ 13- porizfnath i WS “given that it gi atid LD
ey 9% g 'f‘h{-‘p‘"‘d * pon ter ¥ agannst air resiahn;"t::" ct
. By vEYA <2 he © 0% en £ n, .
f? (8) ¥ = v = 2?8‘0.‘ . 4By ;D“‘E; I:I:: i1 . l 5 M A kK 1;::?11';
i " g —VET o 1. .
Bey” () ¥4 500 ' &
=g = al / > ¥ &
fehvg = v F o fundamesl’j O / fgo Y('){
ipe cp) ertane ' s 4
0. An open arsen PPS Gem overtent U . 5%
. r ey 01 - < the 54 * : is ! !
}; 3’:}':1‘:’{; organ pip® f‘f-;r;‘aﬂ pipe- How i E' g T LG) bﬂ
: the first overton® @ i Pl '\N
{ each pipe? (p) 423 cm : ,,"' 0 ‘J}e‘ﬂ:
. (a) 4125 €M () 40.5 €M e - c0
(2ot il 50 =50 Vi y-~
I v=>5 ‘
erguﬂ. f'_ T Hz, £4
10. In L-C-77 _ 20 uC, then the (o) 5:5 m/s >
ﬁ-gooQ.IfL=1H_and.C"2 g (d) 4.4 m/s
m}'!;ge across capacitor 1s (@5 m’,sfs o o
r:;) gas (d) 30V Phgtoem;fe fastest electron hag Sl?‘n% i
i thancal 44 In 2 = h A, L . Sy
ar A takes a time £ less $ 14. eng SRk |
£ fftf; ?;fj%hcand passes the finishing ngt wavel Gitin wavelength 4 Nged 1037}\ (
with speod v more than that ;:; i vl e rest emitted electron wiy 4'1 o
Assuming that both the cars star’s an ged of faste / e 17

1/2

the SP 4 1/2 (g)
than v (5] By 4

a

1
(d) less than v Gﬂ 2

moving ata sgaeed v makesa
isi ith an identical y
on collision W1 al L
liese;dThe kinetic energy at_ ﬂ}e balls afte, thl
collision is 3/4th of t?le original. What i )
coefficient of restitution?

= m
o—V ©
Before collision
o—>Vp oV
After collision
@143 (b)1/42
()2 (@3
radioactive  material decays |

YT respective
ch one-fourty

(b) 2340 yr
(d) 3240 yr
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o ‘][1{’ 5 g, HOW long wi Hhe cyli lnghn";n 23 (Medical) S
# | rﬂ/ 11 itt Tig] d 8 ) Olved A
L fr, "lﬂ‘ ‘vfﬁ ]1‘[? a-‘l(e to ) has i ah&l F'aper 2015 3 =
i ffgf-ln 6:“3 e b)3s ‘-‘eturn ?;as“ 1}0‘:}[ mass 0.020 k {-- e
w-ha:r."“f"'l (das gu?\u e ?‘giﬁ \hc-m“z%\\: :g: d by a gun of %
S at i8¢ ain in th (@ . At is the fecoi{‘.%ui he shell i 1
si he.{g 1 B8 e co )1_ peed of \h 5 33
tall:atad‘ -[Irrcl ofle of a f_ransisto_r 3% on el‘m 2 [C) a c;m;s: 1 e
Say'y ot s 20 KE and load o o e e fasting
.#‘F:'t{"ﬂ‘lfl‘.ﬂ P galr;is ‘35131‘3‘“‘:21;; i 10000 $in (100 t) volt nudg i
M, seeds ars
*hﬂ gd) 500 Sin 100t+ ™ ) ohserved.
] ) 100 Valiy mA are \he in; and other
.::éo displ Vu'llage and gy . flantaneous b
! e displac B rrent, th con) - &
& “ri“ b%armcnic mgtl_]i](',er?' - €quatigp @) 704 V‘}; current are?;;;;euf_ms values of i 9“?_ 33-,
'F‘{{‘ IIPIG motions'? Obtﬂined of (C} 0.5 V. 0.7 ma ! ively;
g the by 5.1 414 ma (D) 609V, 88.2 mA B
3!',Ui111: 4 1t t“'ﬂlues £ SSYRUNETO A 50?'5\?::5\\
¢ i X2 = Sm[m: il a of equal . € wing
g SE) L Do oolindes i 2 solg e vo
¢ 1T s e ere DO
i o +— if:;“der is ErS;n;_ e mass and radius. The
T 3 . l‘utz of Symme‘r; rotate about its standard
gt +9) )X =1025s otate about an L g
ti 19,25 it e +é) @x=11 N (wt — ¢) Nire, Why axis passing through 1S
ting v 955" G 25 sin (wf - ) o angufh of the two will acquixe @
od et reads 2 A and the voltm Bl i aven time?
— rﬂmet h Va]_ue of . eter V ©) w, > = (B) wy =g
29" V. The: Vs resistance R j 2 >y
J s 20 Gnite —esistaneces of amm is  26. The thregh, (d) None of tnese
e “minﬁ i eter and 3.3 Xl(}?‘? }{Jld frequency for certain metal 1S
7 oter) is incid 2. 18 light of 8.2 x 10" Tz frequency
W ; 109 (b) less than 10 Q volta le e?t on the metal, then the cut-off
) ﬁjﬁaﬂ 109 (d) we cannot definitely say @l 5 of the photoelectric current will be
4 f water flowing horizontally with ©2V By 4d
ed® g -1 gushes out of a tub on O S
g ms or a 1 :
a 'Ee spe® N 10~ 2m™? d hi o5 1f two simple pendulums first of bob mass M1
it ¥ < ,;gctional e‘lé; What i aIlth hits a and length 1,, gecond of Hob mMASS Mo and
e g5 yall mEATOY" at is the force length L. Given M, =M, and 1, =28 ¥ 10
e 1,{ﬁ1cd ot the wall by the impact or water? Vlb'f_aﬁonal energies of both are same, then |
aertel st does not reb ound. which of the following is correct? i
50 2 (b) 2000 N (a) Amplitude of Bis smaller than A \
250N (d) 1000 N (b) Ampltude of Bis greater than B o
. 1500 N (c) Amplitude will be same .
parges +6 M1 and —4 pC are placed (d) None of the above %1;:
o C istances from - : - ies OR
11_ qpart as shown. Al what Ch . Tom - 9g, A thin film of soap sokution (s =1A) N oy
pem 3P, lectrostatic potential is L5, When %!
; t, the € lass plate g =" -
1o its P& the top of & g% ¥ 8 rmal to the '
o] Jisible light is incident %mgst;“in e a are &
el x 10
......... B ve
f -------------- _4 X 10“60 Obsewed at two .\Na &\%0@355 o{\he 503‘9
. 108C 0 nm. The minim
D‘i“l’(-)',//’* 63 s %
olution aré y
15 cm . - () 500 NN
() 4207 (d) 400 T
15,45 (¢ 4800
60 e
1
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.fl i
le gt'h 4OP m e&{;h ﬂ: vf‘uﬁ{'
and allel H;.Criclseg;::c?lgmfnziz 1 90] 0*
i0% "yo P4 in the 0, wy @ ¢
er 2 WO Uaon W' W in o driver of B de¢ th b
N . jve 35 " ovitB kP g TU® s byl m/s?, 128y p o
4 BORCE (Medicah ST tioot ;‘;geddﬂfﬂ’f sp°% accelei: brushes py. e, ey
_ - rjsiﬂgfl;?n at the bD; the Abea o A aﬂd of BSJ the original qjg th 1'191'
¥ 29. Aniirl;fbé’?:;f;er is 3:6 "rpe dept arface overt®  guati gt wé gy %mf
f a lake. Its d1 urfact ture 4 s As o!
H Ia;;(d .i;;;z;ci:l anz f_he (emperd - ﬁ?iv";gﬁfthsm? : © 1300 m  (d) 125q 5:;,‘{
/! o m 0 tw 1 ; :
{ is 40°C. qure at the b’-"lrtf;ys cm be p) 1 pacitor C with j i @
! What is the ‘empffpheric g (@ 199 char8® " octed 1O 2 cOM. of S‘al ©
i Jake? Given almPe .2 0.37°C fully %, conPC. g e time at Whigy Bl
;‘- of Hgandg =927 " " 4o @)1 36. I fge 4o lat ¢ =0 ]y between the g)q thy
f. (2)11°C (b) 12.36 mbine 1o form a5 Gh;ilctanse red equﬂllé’ 35 ﬁtrie 5% A
i se in js StOX°" . fie ' ol
rbydl’ﬂgen relea 1 5 tic 1
,Jf.' 30. If four "‘wmuswi e amount of enspr ener8y A agn® © % Jie ek Ny 3
b He atom, fjeldj/ n JIC 2 o B 1
I : v
! is (b) 25.3 Me a/LC 4
: v (a) +he Earth toway '
(a) 26.7 MeV (d) 24.5 Me ) _ m the ds
,fi (c) 22 MeV litude 8 unit is fiIBd f1:0 ce from the g th‘é
2 i wave of ampll : cket distan! ar}y "
onic ven A 10 t th s |45
[ 31. A simple harm Jsitive x-axis. At any & * 37. - At wha 'tatiﬂﬂal force 03% e mck&ti 3
distance e, the gravi . 10°"kg and m&ssg

instant of time;

[I&VSJ'S along pfar 2 partide ata

igin, the dis lac o
10 cm from the orgin 4 gero? Mas® 6 x 10°* kg

4 | ; for a particle at a dista : B _ :
N. gsscﬁu;rgdmgrar@n' $hes djsplacemeﬂt is of the Ear ©) 3.3 10%m
' ; + 4 unit. Calculate the wavelength. ok (2) 2.6 108m (d) 2.3 X 10°m
/ () 200cm (b)2300m (c) 210cm. (d)2 s (0)39x10°M .
battery of emf 8 V with intern : jven below, IOT an anglq
/ 3’2}3;’?3;23 tas'.sszyfs charged by a IZOV%C 38. In -tge Eﬂr; gt the top surface, what ig tﬁi "
. supply using a series resistance of 15.5 %, 1111;11(3; i;iim - fractive index need to toty)

then the terminal voltage of the battery is 1 at vertical face?

@115V (B)20V . 0215V (d) 123V

33. A rigid bar of mass 15 kg is supported
symmetrically by three wires each 2 m long.
Those at each end are of copper and the

/ middle one is of iron. Determine the ratio of

/ their diameters if each is to have the tension.

/ (@126:2 (b) 1.31:1

(c)4.65:3 '

internal reflectio

Air

\

(d)2.69: 4

34. Figure given below shows a network of four -

capacitors of capacit
Gy =20, G =3C',agac::gce e 2 CI S (@) ‘\/5-'-1 1
bt 90, are connected to a Oz
Y. 11€ ratio of charges op C; and G, is / .
. ©) g (@) V2 +1
39. A i
1 Ssgiicsi %ltlt?der of mass 20 kg rotates ah
o 0l
s gular Speed 100 rad 51, 7y
kinetic gpg el 225 m. Wh ‘
il ‘;ghy associated with the 1'0:1 tt'ls ;
Momentyy at : de Magnitude of ?ui;ﬁ
@ 6257 e € about g axis?

4T"S (C) 798 e |‘
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i}',’,‘;wﬂ‘; > um tension the‘:gicgha&d Clrend of G ©is nwbe % 2,
i 3 m 5
: ”-1]55“.26 ms™ ((l::l))e N-3??~.i 200 1} can agr}vf?npf th o s ;Q : SRR ~us 33
VA 8N s™1 : (@) Owegt . adius 1 ving in a verli
‘*-‘lfi."" i pt wire of mass 200 138 mg—1 . 3¢ 445 st fssﬁlﬁﬁi ;;Der'g;é;t 2? 'g'l'[i:létc(?:  A——
‘e“‘p"ﬁs A urrent of 2 A. Tti gand 203 ectry )20 J its highest Vi,
1! rfle urliform horiz 1S sus ength N a cal fo 104 Soads aw
s 8 stude of B ?ontal m pPend 1.5 o © charoe. Tce betw @303 bsered
P 1 (in tesl agn &d in miq ther, oo & SrdiploninS nie wnd othex
ﬁf’ 0 s EI.] % eticg £ mid the » the nd d 10% char " ans
I’ 65 (b) 0-5° (c) 0 = field St 1o ec lecrease 1 Chacge on Gne g g
’ﬂ X ) . -75 B. Ra] e dis irical § 0% ch one of en) . 3
d wire is di 200 N tance b orce b arge on \h e 9-3-
e ;U'sh?lfjved The t]P;ped (d) 045 . Th.e () 202 NECOmeg, etween them {:‘r
o 2 4. in so soap soly 15 g o sleray (© 198N fossilis)
s ;smreeﬂ th; wll‘ez and light ;?d ilm ?luﬂon Dlant;{nes 3:;0;\ due to gravit @ 198 LR
s ielght of }:¢ 10°N. The 1_engt11 . SuPp;m Be the surfé' o oo the planet
s the surface tensi of the stider e surtace of A Wht i ez or s \
10” SN o sion of the fi BROE @en 26 S the height o \rables
FigeiNun )2x10"°N ne film? L St B e \ae.
ﬂ:}“ (d)2.5 x10” Zn{:.y - 2.7 xyldgrﬁgen ator; @20m @18m wybnd
- A
IA{ Gﬂn I'e.SSUIe 5 i rat m? u-anSmiS}:iZ of EMSI.J:;:mm‘ frequency of 1ps in
LrI e 0 ;deal gas pe o of increase moves E:;On Blse plac,e is emitted when pe ot \
9% pperature 101 or degree i Sh e L A g 1T A \
P\ its or rise i , the fre
I J o ) iginal VDlum:-m (3) 3.2 x10'°H quency emitted ‘
= 18 Z. !
ol ¥ @7 (@T 50 (©)1.6 x10"hz (6) 32 x10°He 3
h .Ifa ()16 x10* '
3 . Ta . . Hz \
The lel:'hgth (zif ;l magnet 18 Jarge com .. Tarer Engg;;ght in a denser medium kriks I
its wid an readth. The tim P ared to angles of m at an angle Of ) e e
W o iV : e period of i T of reflect incidence i, e
ﬂsmllatlon ID: yibration magnetom ¢ of its esélecﬁvely S a;;ion’ and Ieﬁac\i(')n, axe  ved
he magnet 15 cut along its len eter is 2 s. i%eac'.‘e.d‘avs are atéé‘cf e reflected and
_yal parts and three gth into three critical anglef angles 9 each Otner, \ 'n
4 parts are th gle for the gV Y
en palced on (a) sin™'(tan 1) i pair of mediais
: () tan™ ' (sin i) (s ten ) "y
(d) oot (en i)
Chemistry \
onsider the following reaction sequence of B2
lkene . Choose the correct st
5 - o 1 statement apout the
- teparation £ hydr
o 3 H,0 0 ogen Lxom
H3CH CHCH3 . . - X water gas { A yares
- In : : .
he product B is . ( 5%253 Teﬂéﬂ\:d hrough occlusion W Pa
an irac.ﬁona\\ |
. 2 y S€ rated USNO
)CH:,\CHZ('_‘,OCi-‘l3 differences 1 neir densities
]CHQCOCHa CO\ jg rem psorption ! aq CuCl
golution
ICH,CHO 4001 0l co '
d) ig OXAISE 2 aminine presance
of atalyst § Jlowed psorption © Q, 0
2

.ICHECHcho
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n in
xcite th the
53. The energy required {9 { =2 "jom i
the atom from I”‘f' o h."c}roinit of 107)-
+ - . 2 e
xonlsatnonaﬁrﬂ:j“‘f{” pe (in 11
1.312x 10

(a) 853
(c) 8.92 -
c 84
54. An ideal mgno-alorz'»"fork
1 ABCD. Then. the
I Cgmpff?fe C.VCIE 13

CE (Medical) SolV®
6 BCE ( ee]ecuo

when

=

s

1
o BV
(b) 2P
(d)-2pY

(a) zero

(c)-pV | %
! 55. From the following which pairs give
ii faster Sy 2 reaction?
{ Me
(a) Me~">~"Cland Me/\r
Cl

() Me~"""X\|and Me~"~" (|

Cl

ks Ve and
Me Me
Br
() Me/\></ anc;w .

Me

Me
Me

© Me

Cl
Br

Me
Me

56. The reactivity
alkanes js E, >

order of halogenatiop of
C12>Br2>12. Choose the

correct statemen ts.

L Lower the actiyat:
gt Ctivation
Initiation step, ¥ ik Chain
ha]ogen,

more reactjye is the

jon energy rnr '_Jf c}(/h

syat p
he .;’;ct;;ol):gatmn Step, L}:‘h v
Lawel;i Ghtal;e halog overall heat : F OOI
ul et eis ", is s ation of
5 tiv Ve alggeﬂ- of a) ﬁ}
reaC pegall . of b halogen. kan:.a (i
v ngéfioﬂ (tjve is the i O(
e
;101’3 ('0]
dll
(fs)? ;‘T?jn}:\i/ i .
((S; :: é}ﬁ and v angle petween CL.__Q\Ql ©
: 5 bO ,
5, what i th (c)108°25"  (d) 120 @
P CO” 119 falkalim
@197 ity of fluorides Clalg in
bill
he solu F
58. ater i KF = HDFF??CSF p
@UF7 "apF > KF 71:;[:? RBE
(b) C_:SF F7N8F7 bF > LiF
©UFZ T > NaF = _
(d Cs ing relation is correct
.- of the follov? grea(:’[ions? for
whic ible
39; ous and revers K An
gase - L) L=/ "
(@ Ke = (RT) Ky
K =g ()%= [— '
(c) 2C = (p) KX RT
Ky -
i uence oir i
0. Consider the following seq Cactiong,
O, /reduction |
/\éHon _HBr, 4 > B+(
A B C
*
@ 7 CHBr CH==0 O=CH— &}
A Al ——

61.

»

/‘\
(d) * CH,Br CH,=0 O== %
| 2 _ CH— CH.t

2.60 x 1030 C moment of HBr

o ;
and the Interatomic spaci

181,414 the
» then the o
HBr is PET cent jonjc character

(8) 16.239

(©) 11,509 (b) 13.219,

(d) 15.819
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fgll owing reaction <
pe NaBO4 ! o
f’I": 1202 J/HOCL Pde\lct [P) EQ N "
K 6y A tMeﬁica“ .
v il tgﬁ“\i Solv 4Py
v for @ 0 Newin® Bives o Per 2015 7 >
D, QE:E‘_ 6r{§ 2 of :}g;ﬁ %E‘tcen\ag thnﬁu“d
€ Th, Slag  48% Mpog; th E—
leat l N 148 o, BBy, \oon B the - p——
of al?tg ttxhel :GH?. K@)aa QQ “;::’;01 d“la\?ﬁ[\ a: \2;1; ‘ ——\‘5
& ‘6“? |OT'! ) Bet:}éf‘r\:‘? mala of the cOmpf; i ‘2015 33
i OH/ oH ,oH 8% ) gy Lf\ja und is ¥ il
A4 GH ) }‘}i in . w &
{7 Mgyys. TRag; S
C W G| OHZ W\n% Qs‘:::g‘ dil}(ﬂe mom, \::1 ah;:gwaég ;
~q 0" | g § e ents ot the hre e
o Py 7o oy %“‘ s TRT
leta]g N](CNLJ s [NICL}] and INi CO 5 (g
S g sauare planar and [ 1) o
plﬂ g- IS el [ 1(01\1}412 5 T\ b . Q
Faoh are tetrah® \ ; h 3
i 60}4 Square planar and ‘ qous face,
il is INI(CNY 2= Q Q Yelevated
'N' (610])24 - are te'trahedra" el ase;:b\es
P 5 - jg square planar and Ql  eage.
‘ect N INiCI, 12~ L x
for ,.[Ni (ON)" " tetrahedfal "5 @)\ 41\\‘3 W < X}T H:‘{:: ;
"'PJE(GO)" e @DOVe Oh=t<iy o © N =N <W<\ Yroe
Nor . Column I with 67. Com: L \
N7 3 (8] . :
¢ OuD‘mg with Column 1. o folv;‘;mﬁld‘ A undergoes following teactions 3.
[ﬂiﬁh S and C Wonal
-‘ Col Bl
olumn |\ ack coloured solid (A) KO, + KO
Hions Green coloured solation B)
. Ring " chain Green col [, - G A \
C tautomerism "4 1,:.160 oured ——— Pink somtion { ) \\
olution (B) \
ecolourise e
(C) decolourised by ¥e' ™
1.Br Tdentify A, B and G respectively
. (@) MO, KMrO and KOs
QD) Mn02 ,KEMT\O 4 and KMY\O A
1,Br (c) KMnQ4, MO, and K NnOs
() KMRO,, YO 37 MO, o Oy
68. The reaction petween WWC 07‘:16: NS
25 oxygen 10 form nilro8® 0% {ormanon
key Step in phot che jcal
2
o —"rt formed by omplet®
The grams OiNOZaI;S is
i c D xion of 1208 % LA
is A B 1eal 023 ORES
ng y2 3 | i @7:29
of 02 ! 3
: 4 B3 ®
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1
Ci,Cla, 4 1mi, B
69. zZHC=CH m HCI

dB.
Identify the compouﬂd;"‘ i

A
() S e M

) cl

/ Vi

fo) H—tl—m=

| / i

-3

Me
| @ A N ETE—H
| e o
“ c c

iquid A
. At 80°C, the vapour pressure of pure liquid -
. is 520 mm Hg and that of pure liquid B 1s

__-i 1000 mm Hg. If a mixture solution of A and B
boils at 80°C and 1 atm pressure, the amount

of A in the mixture is

(a) 50 mol per cent
(c) 32 mol per cent

(b) 54 mol per cent
(d) 44 mol per cent

—_

/ 71. The correct increasing order of solubility of

the sulphates in water is
(a) BeSO, > MgSO, > CaSQ, > SrS0, > BaSO,
(b) BaSO, > SrSO, > CaSO, > MgSO, > BeSO,

/ (c) BaSO, > CaSO, > SrS0, > BeSO; > MgSO4
[ (d) BaSO, > SrSO, > MgS0, > CaS0O, >BeS0,
{ 72. Consider the following reaction,
f ZH0L +NAOH 2=y 5 2, (¢
/ White ppt. Soluble
Then, the final product C is
(@) Na,ZnO, (b) Zn(OH),
(¢) ZnO (d) ZnSO,

73. The vapour pressure of pure water is
23.5 mm Hg. Then, the vapour pressure of an
aqueous solution which contains 5 mass

percent of urea is (Molar mass of urea is 60).

(8) 23 mm Hg (b) 18 mm Hg
(¢) 31 mm Hg (d) 35 mmHg

74. Which of the following organic chloro
- compound shows stereochemical inversion

during a Sy 2 reaction? '
(a) (CH,);CCl (b) (CH. |
CH
(¢) (C;H;), CHel (d) CH:C)f g

015
CECE (Medical) Solved Paper 2

; -
iF
of he fo'
\I‘Ibic - nd SO
cactions, 7 @ G 0o 15 9%° a
rouo“'i“g i AH =—94 @, 88 -
sider the 602(3)' AR 13‘:‘“‘1 to'}o iDO\'\ ar
5, Cof 7 ) =" 2 c2 es
75 0. 2C0:(8 S N opett
cE? o tion of CO (g)§ @
2 ma S
ot . of for p) —26.4 keal ufy
icheﬂ- the :" " ((d) — 41.2 keal 1(19‘;&0115
) 264 K% .4 HA is 4.80 4 g% £0%" 402
64124 o 4,76, Thenit
Ky © H 1s &*-7 5 » thg
6. n:(th::fl::\ weaksb;jfutioﬂ of the Gorresi’““ﬁ?}j&
b egou
ﬂfli‘“gf‘ffull be . (@701 (g c
salt: ) ing is th
ing 1S the
(2 62° ne of the follo® Mg, S
ich © ic benzen
7. whi +7 ‘norganic e
StatBeI::e:E is known as N Tty and a!l_lmin'ium ha;u Lﬂ) \
% C?u;rides of e structure in gas phass %
% pridged ¢ cotonic acid
c) Boric ek S ?bits coordination number of gjy
ljum exn! :
(d) BerY s substance fﬁ ;iege?;ed Wigy, ©\
78. A nitrog®T " product o hich 8t
HNO; 28C 1 OH solution WELEH Prodyg, -
d with Na be 5 Giv
treate St Then, A.
blue colo (b) (CHa)2CHNO, g
(@ CHSCHaNO (d) CcH SCHQONO ¥
HyNV2
(c) CH3CH2 sC
: cry tallises in fcc al_"rangefnent and th )
79. ArBOL "o solid and liquid AT 15 1.59 gJexy k&
density :

respectively- The Pementage
id Ar is
(c) 23.4%

and 1.42g/cm’; .
i u

of empty space 1D iq

(a) 34.84% (D) 43.8% () 21 6%

80. Which one of the following is an exothermj,

- reaction?
(@) N, (g) + O, (g) +180.8 k) — 2NO(g)

(b) C (graphite) + 28 (s) —> CS,() =91.9kJ
(©) N, (g) +3Ha(g) —92kJ — 2NH5(q) _
(d) C (g) +H,0(g) — CO (g) +H,(g) 1311k

81. When4A of current is passed through a1.01,
0.10 M Fe® *(aq) solution for 1 h, it is })arﬂy
reduced to Fe(s) and partly of Fe**(aq)
Identify the incorrect statement.

(a) 0.10 mole of electrons are required to convert al
Fe®* to Fe?*

(0) 0.025 mol of Fe(s) will be deposited
(€) 0.075 mol of iron remaing as Fe?*

(d) 0.050 mol of iron remains ag Fe?*
WWW.GRADESETTER.COM
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\F»’I‘ia of the follow;
and Si i
7o oy SO, both 4
; Oz 1§ gas and Sioare gat&ma
2 s L e Nt gy
g

@ ;
cOz ®° agasb s
g arbon and u? Sio, 2 liqy,
) : il o s
propertles Oth ¢ Solig S QE%
R
atify the = T, Meds
g Id:cﬁﬁfms Produisy e melcy sdicay sy
¥ g8 B of Rog " © Vg
NO; of Simy; ®ln ot of a
5 the “‘\“ar (&) N}‘q::?-c\i\,:hn foly Par 2015 2
1 (i) NH, 5 foy R, agy *O0 for T\:.‘“P\ . 59 i
R o L L Owj Py © o ooty \ 1
TR L AW in " Wy ooy ;
aNo, 8 L S0 My 18 3
NO, (o5 el Thy N, oo Ohapg S e s
oA Ky gl S o s @
t F -‘\‘-‘!’MB ame tB-\;e 5 A0 i Sy
No ) Birg Mung M exay ™
) 2 ) h‘emt:i ved Mple of ' aea \
! (@ ® de e e Mction which e
i F ) 8y, \arg 1eé§2\1c~.ﬁm A oty \
oy
SN o 3
t Qahl th& 3
| No, & T e for Ty e "
2 Sthal &t L eff stalem iy
o (d) B The g o the G\gp:n s \ng \
ame Wa d Sehe
i {\C\?\—?Z\\er “.\an\'“_?‘. 1;:\i?$2‘0\ \ﬁ:ﬂ\t\qﬁ tlgc\;-\ch Yivem;
o GiVBIl th-at: E 2 - \he ‘e,“aﬂ‘.\:we-\a wme\eng“.? ed phase s rou hed
'8 Fe? + =— ((5) dispersi ndices of tne N ey
1 ! [Fe 0.44 v ) The 7 IS}nn mﬂ?\;j‘ he d\smtsg‘d\\“sad . 5
B 2+ /Fe® =-0.77V i : \;E "N?"“G\ce:\ must oe samshasea“d .
Fe . If Fet ‘“agﬁ..“?m%ﬂ meﬁm Fr st S
. A4 9 de e T sed phase and 3n
) F 0 fast
Sohd are kept togeﬂler &1 € and y * Match fhe differ grealy 0 ot
(a) 3+ decreases » Len e Option, following and choose
g ¢ 5 e cortect
F 2+ gl:;?::es Column P nl
. o Nucleic ac
55' Wthh of the following com: _ C. Ennyme ucleic acid L
Jnionic T is aromatic? pound in its D. Giyone |
A B C i
D
(@) () | G2 3 4 3
© D % A
() T o
(C) . L ~
91. On reduction of glycoic acid with 5% e
f heni ! S product formed is
§6. In terms O enius equation, i =BF " @ acdioad g odo e i |
the t mpera Te de endence of rate (¢) formic acd (d) Nore ot nese
ODStaﬂt (k) chem! al react! js written- g7, Consider the io\\owmgteacﬁon.
Then, activ ation © gy (Ed of the 0 .
reaction alcula 4 by plotun® _
o log K ¥8 ; "
O —
(a) logK v (0)10g K™ T
og T ) | A
-","f

E‘ITER.CbM
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f Identify the product &-
OH

oH
(@) Q & @
OH
o)
i
o
the

Jlowing_compounds in
26 ﬁg%ggfnéh;rd?r of their reactivity towards
HCN.
1. Acetaldehyde
II. Acetone
III. Di-tert-butyl ketone
Iv. Methy]-fezf-butyl ketone
/ @h<i<v<I
/ o u<t<iv<li
./ @IV <l <li<l
] @<iv<l<i
/ 94. The enolic form of acetone contains
(a) 10 o-bonds, 2n-bonds and 1 lone pair
(b) 9 o-bonds, 2n-bonds and 2 lone pairs
/ (c) 8 a-bonds, 2r-bonds and 2 lone pairs
[ (d) 9 o-bonds, 1n-bond and 2 lone pairs

/ 95, The magnetic moment of M** (atomic
/ number = 25) is /15 BM. Then, the oxidation

OH

1 (c)

| H

/ number x of M is
(@3 (b) 4
(c)2 (d) 1

96. When 0.1 M NaOH is titrated with 0.1 M
Z(LH;LHA till the end point, K,,(HA) =6 x 10~ 0
and aegree of dissociation of HA is sm
comp.ared to unity. What is the pH 0?'1.1ﬂ;1:
resulting solution at the end point?
(a) 6.23 (b) 9.22
() 7.21 (d) 8 '95

Ja paper 201°

'55‘;65 .
., the decreasing ory y "; W
the f’:’llowiﬂg ‘ * 4 ':':t:‘ E:odaﬂ""
e cter | ’ o g, ot
# S{;ﬂ;;lsc cl-l;iad:r;:" . [gluidlﬂe ! @ %aﬂ;‘:;fﬂb\u:
tolWT" et :
1. PO imethy! P ©) 0o €
o ;-\;oaﬂﬂi“e @1 P Jomm
i1 8 p-n’x]iﬂe (! Ia:ﬂy 0 a
_W_Alll7|7|v 161108‘3‘ XY)B
@"z I|“7 mn= M W ?\91 We
(b) zl|;|' V> “1' Gsl 1411'1%
@y-uz'” thalpy  of w g
et 4 is t,he ;{;CI if the enmalp;he \ Lin F":‘oﬂsta
what : onatio? o & otical  MgCl of \ 5 P
98. WHSL ortioneti ypothetice . s | i
form. /mol 0nd the MgCl2 18 JImoyp 3 Wblit cb
m .
2 12?767]" KkJ/ mol }? Bboohol'c
Ez]) ;57 kJ/mo! I Kf‘g) Noto'
_agg ky/mo! : o
o 92 kJ/mol - . © ek
(@3 . ger of reactivity toway | ;
| decreasing & followingis Gil
99 Thetmephilic addition of the 10 ing is . (d)
: eIIeCCH _cH i'. M Oﬂt C
: > elov
- CHZ#GHZ Cl \ 1-)3001
1, H,C=CH— 1@ ;
1v. HO=CH *
f!".l Cl ©F
@1>1>>N (b) HV> \ 2 N B Y @
() Iv>1il> 1>l (dNV=>H>1>) \“5 1
100.Given the following bond dissociation .

enthalpies (k] mol™ M.
p—p.490, P—P-209, N =N-946, N—N-1g¢
Compare the enthalpy changes for {h
process
(i) 2P,(g) — Pu(g)
(ii) 2N,(g) — N(g)
Choose the correct option. -
() P, is feasible but N, is not feasible
. (b) P4 is not feasible but N, is feasible
(E) Both P, and N, are feasible
(d) Both P, and N, are not feasible

WWW.GRADESETTER.COM


https://gradesetter.com/

12 o llssues like xylem BQEQ
Tde, W w’lliCl‘l of the fi and ph Bi E (m
A0 m ollowi loe. 0‘0 edical
! 10d? n g gy ) Solve
Tu;ﬂ1,uiuﬂ‘um te, 108 9 Paper g
Aol bi : ) L
o 30 e Pz M|
:‘"rﬂﬁd ondas d tll;;qe‘fs i s \er
1 do™ an P O n s — .
-'|-“""1-n algae within Chlore] (o) ATSSBT\C:B“'Wha:?;EU'{‘ N \ —‘"\%
’ ;l?d 2 now plant la, ©) B Sence of talse m es it corre: n in \ \
M I“.ﬂll} aré placed to s (both earliep ) t\Ieak"‘ of true nuuclleo\i sponds \.;t}te | 2015 33 :
ft[. ];insd"m' Choose the c(E:ther inha"ing 1091, o of g “"‘C"ao(ﬂf;“ \ _
Mo ect whi s e ab * contasy
of ff onera (@)D i 1 B et
ig ' fﬂl]. win. U Pray asome:! Eand &% | & eads ar
n nof e o s &) Fiserrme s) were {i o . 1@ observed
A |"h'ﬁltchar ates? g statement is in, 110.sy emming (Zﬁiif:‘ ‘?58322301:,“ 4 e ot
Hpordes e bilaterally symm - i (@ Rucken ’ - “g‘\:;g?%
A is resent etric okines; complex i ©.9:.3:
f 410 at so al. (B) term esi plex i .
.‘1::0”.5 ented, fa‘se ;ne Stage Of Jif (C) ce‘_:?;lnaﬁsz“an s a structure of
J Iamericaily segmen egmente e (d) o R Al i | fossilis
@l ted d iy al \ lof v
ard m animal or t 11 romos distuncti | £ lving
s 46! clefts present at SOMe stage S% e H1-Additio omal paiting 1 \
s : of life. in on of 4-sphi \
o 3 ol scientific St o o \ evese
e 1dent1fy the _names gi ation atty acid: ead of glyc i A
)| of s an ol By erol mbl
"‘mrrectly : option w%'lren [(a} sphingosi d choline lead to | \age ==
j i it c . ne . !
¥ anger® indica en 4 ) sphingophaspholip ©) sph _ \ \yraia
2 ma gambi 12. Which pholipids (d) oo i eips
AT jense of th rebroside it
o indic enzyme! e following acts as an 3 ek
160 pa nthera (@) Phosph s an isomerase \
h (© T'fansp»:gucomula'ae ©) L \ %
pem® commOny occurring speci 113. Additi L bl \ vonal
m & yorm 12 India is g species of an Ieact’;mn of a competiti e
- : s 154 i : .
Pl erefimé commum‘ssfma @ de'i’n mixture will e inhibitor 0 any
o 7 Euf}fphacus @ crease km \
: ; increase km (©) decreaseV A\
: perelima posrhuma (d) max \
ae o ) 114.Th ) increase V \
g Lumbncus . 10e value of water . mat g \
) : ote X .
pich type OF TP solute is always potential for any BE
i poLn osomal subunitaré found (@) insignificant
proka.l'Y otiC cells? ndin (©) slightly negeive ::})negafwe
5805 60 S+ 40 : 1 o positive
| }BDS (30 5 S) 15.Radioactive cO,(#COy) 1 : .
0)80S +5095) suspension of n Q) 18 added 1o the e
) 70 5(@E5S+ 35 S) algae. Which Co;pguo'g’ssim;hesismg green
g 70 o (50 S+ 30 S] bel ] nd ol the {Ouowin will ‘o
abelled first with *C 8 '
?
' dentify th (a) Glucose ,DOZ' %
gentify the _orrect statemen? Jbout the fluid () GPPGA) " P . "
nosaic model of cell membrane 116 Rl phosphat® | |
; ' ATPisth - \
David Robertson in 1972. St Eigosi 1m?0rtant molecule released
@s protens) f th e respirato™y cycles. Which one \
of the following 1 true apout ATP?
@ ATP is prostheﬁc part of an enzy™e
an enzyme

3) It was proposed by
vf{-od_ﬂ yesemb!es he icebergd
’ -;a!mg in the sea (© i
- ygrophilic phosphate head © (p) ATP 152" enzym®
o AP is an organicion &
(d) ATP isa coenzyme

tao iInwards.
srocarbon 18IS face outward.
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12 B aone used (@ 2{ ity olk e ral 1aye k@ [{‘ﬁ (90(;?
] - g b inB JeriP L B0 9P 40
{ 117.Marph_ogen3515“if;;;’:’ gliin ;. £85 111:5 _mf’ 1 {d 0 01:{(1 "
plant tissue ® 950 127" CgtoP' " ocithd 1 'ﬂp § ’101” "
(a) abscisic a¢i9 @24 ver Prese” @) MO oo, PRRCeN
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